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Integrate the following.

1)  
[image: image1.wmf]-

ò

32

xdx






2)  
[image: image2.wmf]+

ò

23

37

xxdx


3)  
[image: image3.wmf](

)

+

ò

sin42

xdx





4)  
[image: image4.wmf](

)

+

ò

3

21

xdx


5)  
[image: image5.wmf](

)

+--

ò

324

42

xxxxdx




6)  
[image: image6.wmf]ò

3

sincos

xxdx


7)  
[image: image7.wmf]ò

2

3cossin

xxdx





8)  
[image: image8.wmf](

)

ò

4

1

33

cos3

xxdx


9)  
[image: image9.wmf](

)

+

ò

2

2

5

4

k

dk

k






10)  
[image: image10.wmf]æö

-

ç÷

èø

ò

3

2

1

18

x

xdx


Calculus 1





Name 







udu Substitution Wkst (2)


Block 


 Date 




1.  
[image: image11.wmf]4

23

(1)

xxdx

-

ò






2.  
[image: image12.wmf]3

2

51

xxdx

-

ò


3.  
[image: image13.wmf]2

32

(1)

x

dx

x

+

ò

  




4.  
[image: image14.wmf](

)

sin2

xdx

ò


5.   
[image: image15.wmf]dx

x

x

2

3

2

)

1

(

ò

+

 



6.  
[image: image16.wmf]dy

y

ò

-

5

5

3


7.  
[image: image17.wmf]3

2

3

10

x

dx

x

-

ò






8.  
[image: image18.wmf]34

520

xxdx

+

ò


9.  
[image: image19.wmf]ò

-

dt

t

t

)

1

cos(

3

2





10.  
[image: image20.wmf]235

(1)(3)

xxxdx

-

++

ò


11. 
[image: image21.wmf]2

1

x

dx

x

+

ò






12.  
[image: image22.wmf](

)

223

sec

xxdx

ò


13. 
[image: image23.wmf]2310

(4)

xxdx

+

ò





14.  
[image: image24.wmf]3

sin2

(1cos2)

x

dx

x

-

ò







15.  
[image: image25.wmf]sin(sin)cos

xxdx

ò


Calculus 1





Name 







udu Substitution Wkst (3)


Block 


 Date 




Integrate the following.
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Integrate the following.
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8 Bonus Points (2 points per problem): Problems 7 – 10
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